SUBROUTINE MINVS(A,KO,N,EPS,ILL)
C Fdkdedkok e dekok e dekd e ko ok e ok ek e ko e
C =2 ACKO,KO) » & * A(N,N) » ZBrd o 7 ji 1 B 45
C KO<300
C 111=3000 ﬂi%]% A AR
C ill#A0 HE#:x
C*****************************************
REAL A(KO,KO)
INTEGER X(300)
LOGICALB
ILL=0
IF((KO.GE.N).AND.(N.GE.2).AND.(N.LE.300).AND.(EPS.GT.0.0)) GO TO

ILL=30000
RETURN

1 DO 10 I=1,N
X (D=1

10  CONTINUE
DO 110 K=1,N
M=K
W=0.0
DO 20 I=K,N
ABSA=ABS(A(I,K))
IF(ABSA.LE.W) GO TO 20
W=ABSA
M=

20  CONTINUE
IF(M.EQ.K) GO TO 50
L=X(M)
X(M)=X(K)
X(K)=L
DO 40 J=1,N
W=A(K;J)
AK,J)=AM,J)
A(M,J)=W

40  CONTINUE

50  IF(ABS(A(K,K)).GE.EPS) GO TO 60
ILL=K



RETURN
60  P=1.0/A(K,K)
DO 70 J=1,N
A(K,J)=A(K,J)*P
70  CONTINUE
DO 100 I=1,N
T=-A(LK)
B=(I.NE.K):AND.(T.NE.0.0)
IF(NOT.B) GO TO 100
DO 90 J=1,N
A(L)=A(1,9)+AK,J)*T
90 | CONTINUE
100 | A(LK)=P*T
A(K,K)=P
110 CONTINUE
DO 140 I=1,N
120 IF(X(1).EQ.I) GO TO 140
K=X(1)
DO 130 J=1,N
W=A(®,1)
A@,D=A(J,K)
A(J,K)=W
130 CONTINUE
L=X(I)
X(1=X(K)
X(K)=L
GO TO 120
140 CONTINUE
RETURN
END



